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QUIZ MASTER

Grand Quiz(CS508)

100% correct solution.
For more information you can visit my channel and for
any type of help related to CS619 you can contact me.

YOUTUBE CHANNEL:
https://www.youtube.com/channel /UCINsFwDiB62SValCcPDZbRQ/playlists

FACEBOOK GROUP:
https://www.facebook.com/groups/923887914750307
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CS508:Grand Quiz

Question # 1 of 30 ( Start time: 01:17:40 AM, 26 December 2020 }

was designed primarily for system simulation.

Select the comect option

O

APL

<

O

SNOBOL ! O%

Pascal
M\ T

Q.

P A A AL AL AT A A A A e e e el el el o all el e N ol ol ol ol o o o o o o o o o o ol o o e o e
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C5508:Grand Quiz

Question # 2 of 30 ( Start time: 01:18:03 AM, 26 December 2020 )

Which of the following is not a discrete type in ada.

Select the correct option
Integer type

O

Modular type

O
Q -~
§

O

Character ty&

© S~

String Type
b
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CS508:Grand Quiz

Question # 3 of 30 { Start time: 01:18:16 AM, 26 December 2020 )
The property list in LISP is a substitute of

Select the correct option (—\ .

C/C++ pointer v

CfC++ structure

Java interfaces N
N
&

Compiler
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Question # 4 of 30 { Start time: 01:18:31 AM. 26 December 2020 )
Which of the following operator is used for pattern matching in SNOBOL?

[\

Select the correct option %
= (Equal) ?t

O

5 = (Not Equal) Qs \L
Q.

. (Dot) \
O

(Space)

b _d
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CS508-Grand Quiz Quiz 5

Question # 5 of 30 { Start time: 01:18:46 AM. 26 December 2020 )

In SNOBOL, we can create new patterns by twio or more patterns.

Select the correct option %

Matching

O]
© NN
&

S

Heplacing

Hemaving %/

Concatenating
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C5508:Grand Quiz

Question # 6 of 30 { Start time: 01:19:11 AM. 26 December 2020 )

A is used to signify a potentially infinite loop in ada.

Select the correct option ‘

Full loop
. LT

simple loop % '
Q§ /
Q-

Special loop ‘\\______‘____
o \

Master loop
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CS5508:Grand Quiz Quiz Start Time: 01:17 AM. 26 Decembs

Question # 7 of 30 ( Start time: 01:19:27 AM. 26 December 2020 ) Total N
The design and evaluation of a particular is highly dependent on the domain in which it is to be used.

Select the correct option ! § \
computer program

O

S\ /
SRR —
é\/

database system

O

software design
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C5508:Grand Quiz

Question # & of 30 ( Start time: 01:20:03 AM. 26 December 2020 )

"Everything for everybody™ was the motive of the language

Select the correct option

COBOL v
o &

LISP % \ |
0 S
&

%

\

PLA

b

JANA,
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Question # 9 of 30 ( Start time: 01:20:19 AM. 26 December 2020 )
Which of following is not part of standard SNOBOL4 statement structure?

—
Select the correct option \ \

ol 5 }
A

Statement body N

goto Field
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CS508:Grand Quiz Quiz

Question # 10 of 30 { Start time: 01:20:34 AM, 26 December 2020 )

The first programming language was . developed by Zuse in isolation.

Select the correct option

O

Algol

5 PL1 Q\- \\

Plankalkdl
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2 CS508:Grand Quiz Quiz Start Time: 01:17 AM, 26 Deceml| 5
2 Question # 11 of 30 ( Start time: 01:20:48 AM. 26 December 2020 ) Total 5
2 The tools we use have a profound (and devious!) influence on our habits and, therefore, on our thinking abilities. 5
S 4
S 4
S 4
S 4
2 Select the correct option — 5
S Seeing [
S 0O 4
S 4
S 4
z Listening 5
' O O

S 4
S \ P 4
) Thinking Q \ 1
3 < :
? 2 4
2 Feeling % $
? O 2 4
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
> £
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CS508:Grand Quiz

Question # 12 of 30 ( Start time: 01:21:02 AM, 26 December 2020 )

Which of the following functions assigns value 5 to symbol y.?

Select the correct option v

=(zetq Sy)

>(setq 5.y) |
0 S\
Y,

>(setgy b) %
e

=(setg.y.5)
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C5508:Grand Quiz

Question # 13 of 30 ( Start time: 01:21:14 AM. 26 December 2020 )

was considered good for describing algorithrms.

Select the correct option
FORTRAM

ALGOL

S

D
LISP s \
&

Ada
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Question # 14 of 30 ( Start time: 01:21:30 AM. 26 December 2020 }
was developed at Bell Labs by Stroustrup. It evolved from C and SIMULA 67

l"‘h

Select the correct option \ q
o <

C++ ‘i

S
-

Smaltalk
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CS508:Grand Quiz {

Question # 15 of 30 ( Start time: 01:21:49 AM. 26 December 2020 )

What is maxamum length of variable name in Snobol?

Select the comect option
16

O

32

? &

O
R
— My,
/

120
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CS508:Grand Quiz

Question # 16 of 30 ( Start time: 01:22:06 AM. 26 December 2020 )

The first programming language to support Recursion was

Select the comect option
ADA

LISP

S
FORTRAN Q"\l.\i \ ___

COBOL
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CS508:Grand Quiz

Question # 17 of 30 ( Start time: 01:22:23 AM, 26 December 2020 }

Tweo impartant versions of LISP are

Select the correct option

Scheme and Atoms r\\ vw
0 \ ) D

Scheme and Common Lisp

b _d

Common Lisp and defacto \N‘\

o &

List and Commean Lisp
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Question # 18 of 30 ( Start time: 01:22-28 AM. 26 December 2020 )

Pascal language was popular in Colleges and universities to teach:

Select the correct option
Structured Programming V

® l?

N
Object Oriented Progra
oS\
\

Business F’mgnwg
S

Scripting language
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Question # 19 of 30 ( Start time: 01:22:53 AM. 26 December 2020 )
was developed at Sun in the early 1950s and is based on C++.

Select the correct option
C#

4

g
0 S
S
&

-
\
\

Java
ko d

Pascal

Smaltalk
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Question # 20 of 30 ( Start time: 01:23:07 AM. 26 December 2020 )
To implement a counter-controlled loop in LISP. which of the following statement is used?

Select the correct option z
listLoop

O

iterate

o A, /
S R

dotimes

®
b d
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Question # 21 of 30 ( Start time: 01:23:25 AM. 26 December 2020 )

Measure of is considered as the cost of writing programs in & programming language.

Select the correct option h

Readability v

S AV
Writability b \/

0 S
Reliability \

o & N
Productivity
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Question # 22 of 30 ( Start time: 01:23:40 AM. 26 December 2020 )

was the era when programming language design took an empirical approach.

Select the correct option V

—
19405 v

1950z

1960s Q/ ' o

1970s
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2 CS508:Grand Quiz 5
S 4
2 Question # 23 of 30 ( Start time: 01:23:54 AM. 26 December 2020 ) 5
2 are a type of Aliasing. 5
S 4
S P4
S P4
S 4
S P4
S 4
S Select the correct option . V e
2 Pointers v 5
S O 4
)
S 4
S 4
2 Parameters 5
S @) s 2
> 4
> ' 4
‘:\ Arrays @ {
3 Q& $
$ O 4
Q <
2 Linked List $
D 4
$ O g
Q <
Q <
Q <
QS <
QS <
QS <
QS <
QS <
> £
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2 C5508:Grand Quiz Quiz Start Time: 01:17 AM. 26 December 202(C 5
2 Question # 24 of 30 ( Start time: 01:24:15 AM, 26 December 2020 ) Total Marks: 5
S Some languages allow special keywords for signaling the start and end of a construct. makingitmore ______ and less prone to 1
S ermars. 1
S 4
S 4
: & 4 :
z Select the correct option % (\ 5
Readable

S

3 O O 4 4
S . D 4
2 Writable 5
S O s \L : 2
S ) 2
) Listenable \N \ 1
> ’ 5
>

:2 Watchable (:
$ <
$ © : g
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
Q <
> £
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Question # 25 of 30 { Start time: 01:24:36 AM. 26 December 2020 )

In the Decimal fixed point type. the distance between values is implemented as a power of

Select the correct option
2

O

~
I
: S )
S
N
8

16
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Question # 26 of 30 ( Start ime: 01:24:59 AM, 26 December 2020 )

Following are some of the reasons for studying concepts related to different programming languages EXCEPT

Select the correct option

Increased ability to learmn new languages %z \

O

Increased capability to design commuge n links \

-
Increased ability to design ne&ges

Increased capacity to express programming concepts
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Question # 27 of 30 ( Start time: 01:25:18 AM. 26 December 2020 )
Which of the following statement is comect about SNOBOL?

Select the correct option Q
Poor Readability Poor Whitability

O
b d

Poor Readabilty Good Writabig
Good Readability Poor xwg “\

Good Readability Good VWritability
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CS508:Grand Quiz

Question # 28 of 30 { Start time: 01:25:31 AM. 26 December 2020 )
A query given to a PROLOG system:

Select the correct option

is @ pattern matching exercise v‘

cannot contain variables

is treated an object \N \
does not involve database
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S 1 miss hogya jaldi m 1
2 CS8508:Grand Quiz Quiz Start Time: 01:17 AM, 26 December 202 5
2 Question # 30 of 30 ( Start time: 01:26:04 AM. 26 December 2020 ) Total Marks: 5
S Aloop ind\.«f_hi:,:t\l:jo:indition is;ested after executing the body of loop is called post-test loop. Which of the following post-test loop is not 1
supported in Ada language?
§ pp guag ~ 5
S Q P4
$ Ny 2
S @ 4
2 Select the correct option 1
S ‘while’ loop Q 5
S O p P4
S 4
S ‘do while’ loo \ | 1
S .Y, g
) b % P 1
$ \ 4
> ‘for laop \ 1
S o 4
P

D 4
2 Infinite locp (
. <
$ O ‘ 4
Q <
Q 14
Q 14
Q 14
Q 14
Q 14
Q 4
Q 4
QS <
QS <
QS <
QS <
;: <

' 4
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